



Agenda Report Form

Open Session Item

SUBJECT: Bid Award (PUR-1350) Trash Removal Services at County Facilities

PRESENTATION DATE: June 6, 2017

PRESENTATION BY: Rick Curry, CPPO, Buyer – Purchasing Department and John Pennesi, Deputy Director – Parks and Facilities

RECOMMENDED MOTION: Move to award the bid for Trash Removal Services at County Facilities to the responsible, responsive bidder, *Apple Valley of Maryland* of *Kearnysville, WV* who submitted the lowest total sum bid in the amount of **\$41,568.00**.

REPORT-IN-BRIEF: The contract is for Trash Removal Services at twenty-five (25) County facilities. The Invitation to Bid (ITB) was published in the local newspaper, listed on the State of Maryland's "eMarylandMarketPlace" web site and on the County's web site. Two (2) bids were received as indicated on the attached bid tabulation. The term of the Contract is for a one (1) year period tentatively to begin July 1, 2017 with an option by the County to renew for four (4) additional consecutive one (1) year periods.

The following provision is included in the bid terms and conditions: Based on the estimate of the net weight of County dumpsters, the total minimum amount of tonnage that the Contractor must deliver to the County landfill shall be 340 tons per year or 28 tons per month.

DISCUSSION:N/AFISCAL IMPACT:
services.Funds are available in various departmental budgets for these
Services.CONCURRENCES:N/AALTERNATIVES:N/AATTACHMENTS:Bid Tabulation Matrix

AUDIO/VISUAL NEEDS: N/A

PUR-1350 Trash Removal Service

| | | | | | Maryland sville, WV | Republic Services Hagerstown, MD | |
|-------------|----------------------------------------------------------------------|-------|-----|------------|------------------------|-------------------------------------|-------------|
| Item No. | Description | Unit | Qty | Unit Price | Total Price | Unit Price | Total Price |
| 1 | Antietam Wastewater Treatment Plant | Month | 12 | \$39.00 | \$468.00 | \$45.00 | \$540.00 |
| 2 | Black Rock Golf Course | Month | 12 | \$250.00 | \$3,000.00 * | \$231.75 | \$2,781.00 |
| 3 | Community Action Council Building | Month | 12 | \$125.00 | \$1,500.00 | \$207.20 | \$2,486.40 |
| 4 | Conococheague Wastewater Treatment Plant – Domestic Plant Area | Month | 12 | \$195.00 | \$2,340.00 | \$211.00 | \$2,532.00 |
| 5 | County Administration Complex | Month | 12 | \$135.00 | \$1,620.00 | \$147.75 | \$1,773.00 |
| 6 | County Administrative Annex Building | Month | 12 | \$85.00 | \$1,020.00 | \$82.25 | \$987.00 |
| 7 | County Commuter Building | Month | 12 | \$85.00 | \$1,020.00 | \$82.25 | \$987.00 |
| 8 | County Office Building | Month | 12 | \$350.00 | \$4,200.00 | \$344.00 | \$4,128.00 |
| 9 | Detention Center | Month | 12 | \$345.00 | \$4,140.00 | \$474.00 | \$5,688.00 |
| 10 | Day Reporting Center | Month | 12 | \$145.00 | \$1,740.00 | \$128.50 | \$1,542.00 |
| 11 | Division of Fire & Em. Services Special Operations Team | Month | 12 | \$85.00 | \$1,020.00 | \$82.75 | \$993.00 |
| 12 | Hagerstown Regional Airport – 18434 Showalter Road | Month | 12 | \$145.00 | \$1,740.00 | \$147.75 | \$1,773.00 |

PUR-1350 Trash Removal Service

| | | | | | Maryland sville, WV | Republic Services Hagerstown, MD | |
|-------------|----------------------------------------------------------------------------------|-------|-----|------------|------------------------|-------------------------------------|-------------|
| Item No. | Description | Unit | Qty | Unit Price | Total Price | Unit Price | Total Price |
| 13 | Hagerstown Regional Airport Maintenance Building – 18436 Showalter Road | Month | 12 | \$85.00 | \$1,020.00 | \$82.25 | \$987.00 |
| 14 | Hagerstown Regional Airport T-Hangars' Location – 18523-18535 Henson Blvd. | Month | 12 | \$145.00 | \$1,740.00 | \$147.75 | \$1,773.00 |
| 15 | Highway Department | Month | 12 | \$225.00 | \$2,700.00 | \$231.75 | \$2,781.00 |
| 16 | Leitersburg/Smithsburg Treatment Plant | Month | 12 | \$65.00 | \$780.00 | \$118.00 | \$1,416.00 |
| 17 | Martin Luther King Center, & Memorial Recreation Ctr. | Month | 12 | \$250.00 | \$3,000.00 | \$231.75 | \$2,781.00 |
| 18 | Patrol Building | Month | 12 | \$135.00 | \$1,620.00 | \$128.50 | \$1,542.00 |
| 19 | William J. Dwyer Center | Month | 12 | \$220.00 | \$2,640.00 | \$190.00 | \$2,280.00 |
| 20 | Winebrenner Wastewater Treatment Plant | Month | 12 | \$65.00 | \$780.00 | \$118.00 | \$1,416.00 |
| 21 | Washington County Emergency Air Unit | Month | 12 | \$20.00 | \$240.00 | \$35.00 | \$420.00 |
| 22 | Washington County Agricultural Education Center | Month | 12 | \$85.00 | \$1,020.00 | \$105.50 | \$1,266.00 |
| 23 | Washington County Museum of Fine Arts | Month | 12 | \$75.00 | \$900.00 | \$82.25 | \$987.00 |
| 24 | Sharpsburg Water Treatment Plant | Month | 12 | \$45.00 | \$540.00 | \$59.00 | \$708.00 |

PUR-1350 Trash Removal Service

| | | | | AVW of I Kearneys | e e | Republic Services Hagerstown, MD | |
|--------------------------------------------------------|-----------------------------------------|--------------|---------------|----------------------|-------------|-------------------------------------|-------------|
| Item No. | Description | Unit | Qty | Unit Price | Total Price | Unit Price | Total Price |
| 25 | Washington County Emergency Services | Month | 12 | \$65.00 | \$780.00 | \$82.25 | \$987.00 |
| Total Sum Bid (Items 1 through 25)Month12 | | \$3,464.00 * | \$41,568.00 * | \$3,796.20 | \$45,554.40 | | |
| Washout/Disinfecting of Ninety-six (96) Gallon Tote | | | | \$50.00 | | \$20.00 | |
| Washout/Disinfecting of Two (2) Cubic Yard Container | | | | \$150.00 | | \$50.00 | |
| Washout/Disinfection of Three (3) Cubic Yard Container | | | | \$150.00 | | \$50.00 | |
| Washout/Disinfecting of Four (4) Cubic Yard Container | | | | \$150.00 | | \$50.00 | |
| Washout/Disinfecting of Six (6) Cubic Yard Container | | | | \$150.00 | | \$50.00 | |
| Washout/Disinfecting of Eight (8) Cubic Yard Container | | | | \$150.00 | | \$50.00 | |

* Corrected Calculations based on individual unit pricing.

NOTES:

AVW of MD - 9B - Detention Center (cardboard) Unit Price - \$95.00 / Total Price - \$1,140.00